RECOMMENDATION TABULATION

FOLIDMENT	the Procurement & Any person who is the notice of decision lure to file a notice of Florida Statutes, states ays, state holidays and be at the office of the son who files an action of The School Board of the bond required by
For: EXCEPTIONAL STUDENT LEARNING SUPPORT Select One Opening Date: (School/Department) Tund: (VARIOUS FUNDS Advertised Date: January 10, 2018	the Procurement & Any person who is the notice of decision lure to file a notice of Florida Statutes, states anys, state holidays and be at the office of the son who files an action of The School Board of the bond required by
For: EXCEPTIONAL STUDENT LEARNING SUPPORT (School/Department) Fund: VARIOUS FUNDS Advertised Date: January 10, 2018 POSTING OF ITB RECOMMENDATION/TABULATION: ITB Recommendations and Tabulations will be posted in Warehousing Services and www.Demandstar.com on FEBRUARY 19, 2018 @ 3:00 pm and will remain posted for 72 hours. adversely affected by the decision or intended decision shall file a notice of protest, in writing, within 72 hours after the posting of or intended decision. The formal written protest shall be filed within ten (10) days after the date the notice of protest is filed. Fail protest or failure to file a formal written protest shall constitute a waiver of proceedings under this chapter. Section 120.57(3)(b), F that "The formal written protest shall state with particularity the facts and law upon which the protest is based." Saturdays, Sunday during which the District is closed shall be excluded in the computation of the 72-hour time period provided. Filings shall be Director of Procurement & Warehousing Services, 7720 West Oakland Park Boulevard, Suite 323, Sunrise, Florida 33351. Any perse protesting an intended decision shall post with the School Board, at the time of filing the formal written protest, a bond, payable to Broward County, Florida, (SBBC), in an amount equal to one percent (1%) of the estimated value of the contract. Failure to post SBBC Policy 3320, Part VIII, Purchasing Policies, Section N, within the time allowed for filing a bond shall constitute a waiver of	the Procurement & . Any person who is the notice of decision lure to file a notice of Florida Statutes, states anys, state holidays and be at the office of the son who files an action of the School Board of the bond required by
For: Cochool/Department Date :	Any person who is the notice of decision lure to file a notice of Florida Statutes, states ays, state holidays and be at the office of the son who files an action of The School Board of the bond required by
POSTING OF ITB RECOMMENDATION/TABULATION: ITB Recommendations and Tabulations will be posted in Warehousing Services and www.Demandstar.com on FEBRUARY 19, 2018 @ 3:00 pm and will remain posted for 72 hours. adversely affected by the decision or intended decision shall file a notice of protest, in writing, within 72 hours after the posting of or intended decision. The formal written protest shall be filed within ten (10) days after the date the notice of protest is filed. Fail protest or failure to file a formal written protest shall constitute a waiver of proceedings under this chapter. Section 120.57(3)(b), F that "The formal written protest shall state with particularity the facts and law upon which the protest is based." Saturdays, Sunday during which the District is closed shall be excluded in the computation of the 72-hour time period provided. Filings shall be Director of Procurement & Warehousing Services, 7720 West Oakland Park Boulevard, Suite 323, Sunrise, Florida 33351. Any person protesting an intended decision shall post with the School Board, at the time of filing the formal written protest, a bond, payable to Broward County, Florida, (SBBC), in an amount equal to one percent (1%) of the estimated value of the contract. Failure to post SBBC Policy 3320, Part VIII, Purchasing Policies, Section N, within the time allowed for filing a bond shall constitute a waiver of	Any person who is the notice of decision lure to file a notice of Florida Statutes, states ays, state holidays and be at the office of the son who files an action of The School Board of the bond required by
Warehousing Services and www.Demandstar.com on FEBRUARY 19, 2018 @ 3:00 pm and will remain posted for 72 hours. adversely affected by the decision or intended decision shall file a notice of protest, in writing, within 72 hours after the posting of or intended decision. The formal written protest shall be filed within ten (10) days after the date the notice of protest is filed. Fail protest or failure to file a formal written protest shall constitute a waiver of proceedings under this chapter. Section 120.57(3)(b), F that "The formal written protest shall state with particularity the facts and law upon which the protest is based." Saturdays, Sunday during which the District is closed shall be excluded in the computation of the 72-hour time period provided. Filings shall be Director of Procurement & Warehousing Services, 7720 West Oakland Park Boulevard, Suite 323, Sunrise, Florida 33351. Any person protesting an intended decision shall post with the School Board, at the time of filing the formal written protest, a bond, payable to Broward County, Florida, (SBBC), in an amount equal to one percent (1%) of the estimated value of the contract. Failure to post SBBC Policy 3320, Part VIII, Purchasing Policies, Section N, within the time allowed for filing a bond shall constitute a waiver of	Any person who is the notice of decision lure to file a notice of Florida Statutes, states ays, state holidays and be at the office of the son who files an action of The School Board of the bond required by
date stated above is tentative. Confirm with the Purchasing Agent of record for the actual date the Cone of Silence has RECOMMENDATION TABULATION BID SHALL BE AWARDED BY ITEM OR BY GROUP, AS INDICATED ON THE BID SUMMARY SHEETS, TO THE LO	owest responsive
AND RESPONSIBLE BIDDER(S) (INCLUDING PRICE WITH M/WBE INCENTIVE CALCULATION) MEETING ALL SPECI AND CONDITIONS.	IFICATIONS, TERMS
BID ITEM DESCRIPTION AWARDEE(S)	
1 ANNUAL CONTRACT FOR YEARLY CALIBRATION ALPHA-CAL, LLC 2 HOURLY RATE TO REPAIR AUDIOLOGICAL EQUIPMENT ALPHA-CAL, LLC 4 HOURLY RATE TO CALIBRATE SOUND BOOTHS ALPHA-CAL, LLC	
IN ACCORDANCE WITH SPECIAL CONDITION 3 OF OUR INVITATION TO BID, WE ARE RECOMMENDING THE REJECT 3 SUBMITTED BY ALPHA-CAL, LLC FOR NOT BIDDING ON ALL ITEMS WITHIN THAT GROUP.	ECTION OF BID ITEM
AS STATED IN THE BID "BID SHALL BE AWARDED BY ITEM OR BY GROUP, AS INDICATED ON THE BID SUMMAI LOWEST RESPONSIVE AND RESPONSIBLE BIDDER(S) (INCLUDING PRICE WITH M/WBE INCENTIVE CALCULAT. SPECIFICATIONS, TERMS AND CONDITIONS. FOR ITEMS IN GROUPS, IT IS NECESSARY TO BID ON EVERY ITEM IS ALL ITEMS IN THE GROUP MUST MEET SPECIFICATIONS IN ORDER TO BE CONSIDERED FOR AWARD.	TION) MEETING ALL
IT IS NOT OUR INTENT TO REBID THIS ITEM.	
CONTRACT PERIOD: APRIL 1, 2018, THROUGH APRIL 30, 2020.	
By: Rarlene Grant Date: 2-	-19-2018

The School Board of Broward County, Florida, prohibits any policy or procedure which results in discrimination on the basis of age, color, disability, gender expression, national origin, marital status, race, religion, sex or sexual orientation. Individuals who wish to file a discrimination complaint, may call the Executive Director, Benefits & EEO Compliance at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

Individuals with disabilities requesting accommodations under the Americans with Disabilities Act (ADA) may call the Equal Educational Opportunities (EEO) at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

BID REJECTION

CALIBRATE AND REPAIR OF AUDIOLOGICAL EQUIPMENT BID NO. 18-157B

REJECT BID ITEM 3: ALPHA-CAL, LLC

IN ACCORDANCE WITH SPECIAL CONDITION 3 OF OUR INVITATION TO BID, WE ARE RECOMMENDING THE REJECTION OF BID ITEM 3 SUBMITTED BY ALPHA-CAL, LLC FOR NOT BIDDING ON ALL ITEMS WITHIN THAT GROUP.

AS STATED IN THE BID "BID SHALL BE AWARDED BY ITEM OR BY GROUP, AS INDICATED ON THE BID SUMMARY SHEETS, TO THE LOWEST RESPONSIVE AND RESPONSIBLE BIDDER(S) (INCLUDING PRICE WITH M/WBE INCENTIVE CALCULATION) MEETING ALL SPECIFICATIONS, TERMS AND CONDITIONS. FOR ITEMS IN GROUPS, IT IS NECESSARY TO BID ON EVERY ITEM IN THE GROUP, AND ALL ITEMS IN THE GROUP MUST MEET SPECIFICATIONS IN ORDER TO BE CONSIDERED FOR AWARD.

ITEM 1 - To Be Awarded as a GROUP

					Price Per Unit of Measure		Alpha-Cal, LLO	
Item #1	Description	Estimated Qty	Unit of Measure	ι			Total \$ Bid Line Item	New Model (If applicable)
	MADOEN ZOZ/AD				450.00	_	477.00	
A	MADSEN ZS761B	3	Each	\$	159.00		477.00	
В	MAICO AUDIOMETERS (Air Conduction only) BELTONE AUDIOMETERS (Air Conduction only)	52	Each	\$	49.00		2,548.00	
С	BELTONE 2000	102	Each	\$	49.00 49.00		4,998.00	
D E	TRACOR AUDIOMETERS (Air Conduction only)	2 56	Each Each	\$ \$	49.00		98.00 2,744.00	
F	GRASON-STADLER 1701 AUDIOMETER	2	Each	\$	49.00		98.00	
G	GRASION-STADLER - GSI-28	2	Each	\$	199.00		398.00	
Н	AMERICAN ELECTROMEDICS AE-207D	1	Each	\$	159.00		159.00	
1	AMERICAN ELECTROMEDICS 106	2	Each	\$	159.00		318.00	
J	MADSEN IMPEDENCE BRIDGE ZS76B	7	Each	\$	259.00		1,813.00	
K	MADSEN OB802	1	Each	\$	299.00		299.00	
L	AMPLAID 702 BRIDGE (Air Conduction only)	1	Each	\$	49.00		49.00	
 M	AMPLAID AUDIOMETERS	15	Each	\$	49.00		735.00	
	TELEDYNE IMPEDENCE BRIDGE MDL. TA-7A			Ψ		<u> </u>		
N		3	Each	\$	159.00		477.00	
0	REXTON 2500	2	Each	\$	159.00		318.00	
Р	QUALITONE	2	Each	\$	159.00	\$	318.00	
0	GRASON-STADLER AUDIOMETERS (Air	81	Each	¢	49.00	¢	3,969.00	
Q R	Conduction only) GRASON-STADLER GSI-38	8	Each	\$ \$	189.00		1,512.00	
S	AUDIOSCAN RM500CP	4	Each	\$	159.00		636.00	
T	GRASON-STADLER GSI-37	5	Each	\$	159.00		795.00	
U	MAICO IMPEDANCE BRIDGE	5	Each	\$	169.00		845.00	
0		<u> </u>	Lacii	Ψ	107.00	Ψ	043.00	
V	GRASON-STADLER GSI-70 OAE INSTRUMENT	5	Each	\$	239.00	\$	1,195.00	
W	GRASON-STADLER 61 AUDIOMETER	2	Each	\$	299.00	\$	598.00	
	TVAADANOMETEDO							
Х	TYMPANOMETERS INTERACOUSTICS/ AT 235	1	Each	\$	259.00	¢	259.00	
Y	GSI 37	1	Each	\$	159.00		159.00	
Z	GSI 61	1	Each	\$	299.00		299.00	
AA	GSI 38	1	Each	\$	189.00		189.00	
BB	ERA SCAN PRO	1	Each	\$	239.00		239.00	
DD	SENTIERO PATH PORTABLE	1	Lacii	Ψ	237.00	ψ	237.00	
CC	TYMPANOMETER	1	Each	\$	189.00	\$	189.00	
	AUDIOMETERS					,		
DD	MA 40	1	Each	\$	199.00		199.00	
EE	GSI 61	1	Each	\$	299.00		299.00	
FF	GRASON STADLER/GSI 61	1	Each	\$	299.00		299.00	
GG	MAICO MA41	1	Each	\$	199.00	\$	199.00	



	<u>OAE</u>					
HH	ERO SCAN PRO	1	Each	\$ 239.00	\$ 239.00	
	TOTAL FOR ITEM 1 (A - HH Inclusive)				\$ 27,966.00	

ITEM 2 - To Be Awarded as a GROUP

							Alpha-Cal, LLC	
Item #2	Description	Estimated Quantity	Unit of Measure	Unit of		Total \$ Bid Line Item		New Model (If applicable)
Α	MADSEN ZS761B	3	Hour	\$	259.00	\$	777.00	
В	MAICO AUDIOMETERS	52	Hour	\$	49.00		2,548.00	
С	BELTONE AUDIOMETERS	102	Hour	\$	49.00	\$	4,998.00	
D	BELTONE 2000	2	Hour	\$	49.00	,	98.00	
E	TRACOR AUDIOMETERS	56	Hour	\$	49.00	\$	2,744.00	
F	GRASION-STADLER - GSI-28	2	Hour	\$	159.00	,	318.00	
G	AMERICAN ELECTROMEDICS AE-207D	1	Hour	\$	159.00	\$	159.00	
Н	AMERICAN ELECTROMEDICS 106	2	Hour	\$		\$	318.00	
1	MADSEN IMPEDENCE BRIDGE ZS76B	7	Hour	\$	259.00	\$	1,813.00	
J	MADSEN OB802	1	Hour	\$	299.00		299.00	
K	AMPLAID 702 BRIDGE	1	Hour	\$	259.00	\$	259.00	
L	AMPLAID AUDIOMETERS	15	Hour	\$	49.00	\$	735.00	
M	TELEDYNE IMPEDENCE BRIDGE MDL. TA-7A	3	Hour	\$	259.00	\$	777.00	
N	REXTON 2500	2	Hour	\$	159.00	\$	318.00	
0	QUALITONE	2	Hour	\$	159.00	\$	318.00	
Р	GRASON-STADLER AUDIOMETERS	81	Hour	\$	49.00	\$	3,969.00	
Q	GRASON-STADLER GSI-38	8	Hour	\$	189.00	\$	1,512.00	
R	AUDIOSCAN RM500CP	5	Hour	\$	159.00	\$	795.00	
S	GRASON-STADLER GSI-37	5	Hour	\$	159.00	\$	795.00	
T	MAICO IMPEDANCE BRIDGE	2	Hour	\$	159.00	\$	318.00	
U	GRASON-STADLER GSI-70 OAE INSTRUMENT	1	Hour	\$	239.00	\$	239.00	
٧	GRASON-STADLER 61 AUDIOMETER	1	Hour	\$	299.00	\$	299.00	
W	CYBERSMITH VRA SYSTEM DELUXE	1	Hour	\$	159.00	\$	159.00	
Χ	PEHRATEK XMS-1000 WIRELESS VRA	1	Hour	\$	159.00	\$	159.00	
	TOTAL FOR ITEM 2 (A - X Inclusive)					\$	24,724.00	



ITEM 4 - To Be Awarded as an ITEM

				Alpha-	·Cal, LLC	
Item #2	Description	Unit of Measure	Column1		Total \$ Bid Line Item	
Α	Hourly rate to calibrate approximately five (5) Sound Booths	Single Hourly Rate		\$	159.00	
	TOTAL FOR ITEM 4			\$	159.00	